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® O 9,960 24.51 - 5,018 27.29 - 4,942 21.86
FTav B 1,282 22.02 18 653 23.92 17, 629 20.35
g A 829 14.50 200 398 15.92 19 431 13.33
FeF 687 23.06 17, 371 25.72 15 316 21.00
A 1,047 26.47 11 539 29.59 12} 508 23.68
~ 7 1,035 30.06 6 514 33.69 4 521 26.47
B T 1,268 27.22 100 678 31.51 8 590 23.42
¥R 158 16.94 19 57 14.20 20 101 18.99
T B 278 31.73 3 134 32.45 6| 144 30.58
ERES 346 31.45 4 175 36.27 3 171 25.71
AR 581 24.43 14, 283 27.46 14{ 298 20.69
2 Rk 291 28.12 9 139 30.53 11 152 24.84
2 HRk 358 23.42 16/ 167 25.64 16/ 191 20.32
£ &5 324 26.33 12| 155 29.29 13 169 22.48
B § Bk 526 32.96 2 272 36.99 2l 254 28.75
+ LB 101 24.99 13| 46 23.84 18 55 25.57
=R 242 37.84 1| 129 44.07 1] 113 31.87
RIS 59 28.17 8 29 31.32 10 30 23.60
AL 194 28.39 71 100 31.97 7 94 25.24
A 209 31.10 5| 103 33.32 5| 106 28.65
E&D 107 23.43 15/ 62 31.50 9 45 16.54
*7 104 & 942 28.18 - 474 31.83 --| 468 24.57
*7 105 # 1,035 30.06 6 514 33.69 4 521 26.47
R T 93 1.88 |40 1.86 | 53 1.9
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104 # | 22| 104& | 2% 104 # | ¢ | 104# | 22 | 104# |2
%](2698.13| —- | 7112.02| -- 3824.21| —- |2828.19| —— |8127.41| —
+12550.36] 4 | 6991.96] 2 3256.36| 5 |2508.31| 5 | 7786.57| 3
+13096.77) 1 | 8562.70| 1 3484.44| 3 | 2867.18] 2 | 7576.56| 4
+12165.60) 6 | 5537.75| 6 3249.15| 6 | 2235.15 6 | 6840.65 6
+12360.24) 5 | 6131.53] 5 4839.43| 2 | 2660.73| 3 | 7302.96 5
+12962.52) 2 | 6961.01| 3 4992.80[ 1 |2952.07| 1 | 8655.47 1
3 |6361.31 4 3348.45 4 | 2586.19| 4 | 8314.06| 2
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